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BE: BiCh:_ 237
2° 3% - 8x+12=0 437 —46x— 48 = 0

X —2¢ —15x=0 7 — 111x% +482x — 336 = 0

X =¥ —56x=0 A+ +18x =0

X+ 14¢% +48x = 0 X —48x+128=0

X+ 6xr —25x— 150 = 0 43 + 49x% + 105x — 108 = 0
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e

202 =32 —-8x+12=0
3

x==,2,—2
2

X —2¢—-15x=0
x=-3,5,0

X =¥ —5x=0
x=28,-7,0

X+ 147 +48x =0
x=—6,-8,0

X+ 6x> —25x— 150 = 0
x=-5,-6,5

HIZh:

X4 3x> —46x— 48 =0
x=-1,6,—8

7> — 111x% + 482x — 336 = 0
6

-, 8,7
7

x:

£ +9¢° +18x =0
x=-6,-3,0

X —48x+ 128 = 0
x=-8,4,4

4 + 49x* +105x — 108 = 0

,~4,79

B~ w

x:
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